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 CRASH COURSE

CBSE 12th 2021-22
PHYSICS

※ This is for the Sample Study Material. We provides all the study 
material to purchased user. Please check the course details on www.misostudy.com

CBSE 2021-22 CRASH COURSE
CBSE Class 12th PCB crash course provides a preparation strategy & direction, a speedy revision 
and getting a high score for CBSE Class 12th PCB. It is a focused course for the CBSE aspirant's 
full preparation through a final mock test with important exam pattern, solving past questions and 
emphasize on the formulas to crack the CBSE Class 12th exam.
▲ Important problem-solving and revision of all important topics with the last 7 years CBSE Class 
12th analysis. ▲Providing problem-solving tips and tricks for the exam. ▲100% CBSE pattern 
questions with detailed solutions. ▲Those questions are the focus on chapters with a high weight. 
▲ Misconceptions and repeated errors are cleared by the faculties. ▲ The questions of compete 
syllabus designed by the experienced Misostudy faculty team. ▲ Boosts confidence in students so 
that they can score well.

(SUBJECTIVE QUESTIONS)

1. How is force between two charges affected when each charge is doubled and distance between 
them is also doubled?

2. How much positive and negative charge is there in a cup of water?

3. A metal sphere has a charge of ‒ 6.5 μC. When 5 × 1013 electrons are removed from the 
sphere, what would be the net charge on it? 

4. Define relative permittivity of a medium.

5. Explain the phenomenon of charging by induction?
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       Answer & Solutions

1. 

As ∝


  ∴ F becomes 



 time = 1 time, i.e., force remains the same.

2. 
So in one cup of water (250 ml) there are 1.338×107 C positive charge and –1.338×107 C negative 
charge. Totally they will be neutral.

3. 
So, 8 uC charge transferred from sphere. so, net charge = –6.5 + 8 = 1.5 uC

4. 
Relative permittivity e(r) is defined as the ratio of absolute permittivity of a medium (e) to the 
absolute permittivity of free space (e0) 
e(r) = e / e0
It can also be defined as the ratio of forces of attraction/repulsion between two point charges 
separated by a certain distance in vacuum to the force of attraction when they are placed in a 
medium same distance apart.
e(r) = F(o) / F(medium)

5. 
When charging a conductor by induction, a charged object is brought close to but does not touch 
the conductor. In the end the conductor has charge of the opposite sign as the charge on the 
object. One way to carry out the four-step process :
(i) Bring the charged object close to, but not touching, the conductor. Charge on the conductor 

shifts in response to the nearby charged object.
(ii) Connect the conductor to ground. Ground is basically a charge reservoir - anything that can 

give up or receive charge without noticing the change. Electrons flow from ground to the 
conductor if the charged object is positive, and the opposite way if the object is negative. The 
conductor now has a net charge with a sign opposite to the sign on the charged object.

(iii) Remove the ground connection. The transferred electrons can't get back to where they came 
from.

(iv) Remove the charged object. The net charge distributes itself over the surface of the conductor.
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(OBJECTIVE QUESTIONS)
1. Two equal charges placed in air separated by a distance 3 m repel each other with force 0.1 gf. 

Calculate the magnitude of either of the charges. 

(a) 9.9 × 10–7 C
(b) 4.5 × 10–7 C
(c) 12.4 × 10–7 C
(d) 15.2 × 10–7 C

2. An electron is released with a velocity of 5 × 106 ms–1 in an electric field of 
103 NC–1 which has been applied so as to oppose its motion. The distance travelled by electron 
before coming to 
(a) 7.11 × 10–2 m
(b) 3.35 × 10–2 m
(c) 9.2 × 10–2 m
(d) 11.4 × 10–2 m

3. Three charges, each equal to q, are placed at the three corners of a square of side a. Find the 
electric field at the fourth corner of the square 

(a) 







(b) 


 



    

(c) 


 



   

(d) 







4. If the number of electric lines of force emerging out of a closed surface are 103, calculate the 
charge enclosed by the surface

(a) 4.42 × 10–9 C
(b) 8.85 × 10–9 C

(c) 17.7 × 10–9 C
(d) 12.5 × 10–9 C

5. A uniform electric field E   ×  NC   exist in space. The flux of this field through a 
square of 10 cm on a side, and whose plane is parallel to the YZ plane is 

(a) 25 Nm2 C–1 
(b) 50 Nm2 C–1 
(c) 75 Nm2 C–1 
(d) 100 Nm2 C–1 
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       Answer & Solutions
 

1. (a)
For q1 = q2 = q (say),

FF




r

q ×q

or q  F × r

Setting F = 0.1 gf  = 0.1 × 10–3 kgf = 0.1 × 10–3 × 9.8N,
r = 3m and ε0 = 8.854 × 10–12 C2N–1 m–1 

We get
q = 9.9 × 10–7C

2. (a)
Since electric field is applied so as to oppose the motion of electron,

  




 ×  

×  ×

= – 1.758 × 1014 m s–2 (retardation)
Now, u = 5 × 106 m s–1, v = 0 
Using the relation :

v2 – u2 = 2a S, we get 
S = 7.11 × 10–2 m

3. (b)
Here, AB = BC = CD = AD = a
∴ BD =      

Now, EA = EC = 







and EB = 



 










Since EA and EC are equal, their resultant will be equally inclined to them i.e it will along BD. 
If is resultant of EA and EC them
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E’ = EA
  Ec

  EA
  EA

   EA

= 






 

Hence, the resultant of electric fields due to the three charges, 

E = E + EB = 






 








= 






 

4. (b)
q = ε0Φ
  = 8.854 × 10–12 × 103 = 8.854 × 10–9 C

5. (b)
Flue Φ = EA

= (5 × 103 i ) (10 × 10 × 10–4) i

= 50 Nm2 C–1 



Crash course for CBSE 12th 2021-22

6

- 6 -

CHEMISTRY
CBSE 2021-22 CRASH COURSE
CBSE Class 12th PCB crash course provides a preparation strategy & direction, a speedy revision 
and getting a high score for CBSE Class 12th PCB. It is a focused course for the CBSE aspirant's 
full preparation through a final mock test with important exam pattern, solving past questions and 
emphasize on the formulas to crack the CBSE Class 12th exam.
▲ Important problem-solving and revision of all important topics with the last 7 years CBSE Class 
12th analysis. ▲Providing problem-solving tips and tricks for the exam. ▲100% CBSE pattern 
questions with detailed solutions. ▲Those questions are the focus on chapters with a high weight. 
▲ Misconceptions and repeated errors are cleared by the faculties. ▲ The questions of compete 
syllabus designed by the experienced Misostudy faculty team. ▲ Boosts confidence in students so 
that they can score well.

(SUBJECTIVE QUESTIONS)
(Q. 1 One Marks)
1.

(i) “Crystalline solids are anisotropic  in nature”. What does this statement mean.
(ii) Classify the following into different categories of crystalline solids :-

Urea , ammonia, tin, graphite, silicon, potassium sulphate, water, argon

(Q. 2 Two Marks)
2. Explain the following terms with suitable examples : 

(i) Schottky defect
(ii) Frenkel defect.

(Q. 3 Three Marks)
3.

(i) What do you understand by colligative properties ?
(ii) State Raoult’s law for a binary solution containing volatile components. 

(Q. 4 Four Marks)
4. Explain the following with suitable examples: 

(i) Ferrimagnetism
(ii) Paramagnetism
(iii) Ferromagnetism
(iv) F-centre. 
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(Q. 5 Four Marks)
5.

(i) Define the following terms :
Ÿ Isotonic solutions and hypertonic solutions
Ÿ Van’t Hoff factor
Ÿ Plasmolysis 

(ii) What is meant by ‘reverse osmosis?



Crash course for CBSE 12th 2021-22

8

- 8 -

 
      Answer & Solutions

1.
(i) Anisotropic means that properties of crystalline solids like refractive index thermal conductivity 

electrical conductivity etc. when calculated from different directions comes out to be different.
All Crystalline solids are not Anisotropic. Some Crystalline solids are Anisotropic because 
despite showing periodicity they are not exactly the same in all directions. It all depends on 
the symmetry of the unit cell of the crystal. They have their atoms arranged in different 
manner and in three different plane (X,Y,Z).

(ii)
Potassium sulphate Ionic solid
Benzene  Molecular solid (non−polar)
Urea      Polar molecular solid 
Ammonia Polar molecular solid 
Water Hydrogen bonded molecular solid 
Zinc sulphide lonic solid 
Graphite Covalent or network solid
Rubidium Metallic solid 
Argon  Non-polar molecular solid
Silicon carbide Covalent or network solid

2.
(i) It is basically a vacancy defect in ionic solids. In order to maintain electrical neutrality, the 

number of missing cations and anions are equal. Like simple vacancy defect, Schottky defect 
also decreases the density of the substance. Number of such defects in ionic solids is quite 
significant.

(ii) This defect is shown by ionic solids. In this defect the smaller ions are dislocated from its 
normal site to an interstitial site . It generate a vacancy defect at its original site and an 
interstitial defect at its new location. Frenkel defect is also called dislocation defect. In this 
type of defect, density remains same. Frenkel defect is shown by ionic substance in which 
there is a large difference in the size of ions, for example, ZnS, AgCl, AgBr and AgI shows 
this effect due to small size of Zn2+ and Ag+ ions.
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3.
(i) that depend on the ratio of the number of solute particles to the number of solvent molecules 

in a solution, and not on the nature of the chemical species present. ... The word colligative 
is derived from the Latin colligatus meaning bound together

(ii) containing a non-volatile solute is directly related to the mole fraction of solvent (i.e. volatile) 
in the solution. Relative going-down of vapour pressure is equal to mole fraction of non 
volatile and non-electrolytic solute.

4.
(i) Schottky defect is basically a vacancy defect shown by ionic solids. In this defect, an equal 

number of cations and anions are missing to maintain electrical neutrality. It decreases the 
density of a substance. Significant number of Schottky defects is present in ionic solids. For 
example, in NaCl, there are approximately 106Schottky pairs per cm3at room temperature. 
Ionic substances containing similar-sized cations and anions show this type of defect. For 
example: NaCl, KCl, CsCl, AgBr, etc.

(ii) Ionic solids containing large differences in the sizes of ions show this type of defect. When 
the smaller ion (usually cation) is dislocated from its normal site to aninterstitial site, Frenkel 
defect is created. It creates a vacancy defect as well as an interstitial defect. Frenkel defect is 
also known as dislocation defect. Ionic solids such as AgCl, AgBr, AgI and ZnS show this 
type of defect.
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(iii) Interstitial defect is shown by non-ionic solids. This type of defect is created when some 
constituent particles (atoms or molecules) occupy an interstitial site of the crystal. The density 
of a substance increases because of this defect.

(iv) When the anionic sites of a crystal are occupied by unpaired electrons, the ionic sites are 
called F-centres. These unpaired electrons impart colour to the crystals. For example, when 
crystals of NaCl are heated in an atmosphere of sodium vapour, the sodium atoms are 
deposited on the surface of the crystal. The Cl ions diffuse from the crystal to its surface and 
combine with Na atoms, forming NaCl. During this process, the Na atoms on the surface of 
the crystal lose electrons. These released electrons diffuse into the crystal and occupy the 
vacant anionic sites, creating F-centres.

5.
(i)
(a) Mole fraction of a component is the ratio of number of moles of the component to the total 

number of moles of all the components.
(b) Van't Hoff factor is the ratio of normal molar mass to the abnormal molar mass. Van't Hoff 

factor is the ratio of observed value of colligative property to calculated value of colligative 
property assuming no association or dissociation.
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(OBJECTIVE QUESTIONS)
1. Which of the following arrangements shows schematic alignment of magnetic moments of 

antiferromagnetic substances ?

(a)

(b)

(c)

(d)

2. Which of the following point defects are shown by AgBr(s) crystals ?
(A) Schottky defect (B) Frenkel defect
(C) Metal excess defect
(D) Metal deficiency defect

(a) (A) and (B)
(b) (C) and (D)

(c) (A) and (C)
(d) (B) and (D)

3. To get an n-type semiconductor from silicon, it should be doped with a substance having 
following valance electrons.

(a) 2
(b) 1

(c) 3
(d) 5

4. A compound formed by elements X and Y crystallizes in a cubic structure in which atoms X 
are at the corners of the cube and atoms Y are at the face centres. The formula of the 
compound is :

(a) X3Y
(b) XY

(c) XY2 
(d) XY3 

5. AB crystallizes in body centred cubic lattice with edge length ‘a’ equal to 387 pm. The distance 
between two oppositely charged ions in the lattice is :

(a) 300 pm
(b) 355 pm

(c) 250 pm
(d) 200 pm
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       Answer & Solutions

Q1. (d)
The substances which are expected to possess p aramagnetism or ferromagnetism on the basis of 
magnetic moments of domains but actually they possess zero net magnetic moment are called 
anti-ferromagnetic substances.
They possess equal no. of domains in opposite directions.

Q2. (a)
Schottky defect is shown by the ionic compounds having comparative size of cation & Anion.
Frenkel defect occurs when the cationic size is smaller.
Despite of both the opposite facts, the radius ratio of AgBr being intermediate, makes it a 
compound showing both defects.
Majorly AgBr shows frenkel defect.

Q3. (d)
Si has 4 valence electrons when if is doped with a compound having 5 valence electrons, it forms 
4 covalent bonds with the droped atom, and the 5th electron is delocalised, increasing the 
conductivity of silicon and making it negatively charged. This is how n-type semiconductor is 
formed.

Q4. (d)
corners → 8

∴ 


×8 = 1 atoms (X)

face centres = 6




×6 = 3 atoms (Y)

XY3 is the formula

Q5. (b)
In BCC structure, the cations occupy the corners, whereas the anions occupy the centre of the cube.
∴ the diagonal of cube  ×

Distance between 2 oppositely charged ions = 


  


×   pm
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BIOLOGY
CBSE 2021-22 CRASH COURSE
CBSE Class 12th PCB crash course provides a preparation strategy & direction, a speedy revision 
and getting a high score for CBSE Class 12th PCB. It is a focused course for the CBSE aspirant's 
full preparation through a final mock test with important exam pattern, solving past questions and 
emphasize on the formulas to crack the CBSE Class 12th exam.
▲ Important problem-solving and revision of all important topics with the last 7 years CBSE Class 
12th analysis. ▲Providing problem-solving tips and tricks for the exam. ▲100% CBSE pattern 
questions with detailed solutions. ▲Those questions are the focus on chapters with a high weight. 
▲ Misconceptions and repeated errors are cleared by the faculties. ▲ The questions of compete 
syllabus designed by the experienced Misostudy faculty team. ▲ Boosts confidence in students so 
that they can score well.

(SUBJECTIVE QUESTIONS)
(Q.1 One Marks)
1. Offsprings produced by asexual reproduction are called clones. Justify giving two reasons. 

(Q.2 Three Marks)
2.

(i) List the three states the annual and biennial angiosperms have to pass through during their 
life cycle. 

(ii) List and describe any two vegetative propagules in flowering plants.

(Q.3 Three Marks)
3. Draw a diagram of a mature embryo sac of an angiosperm and label the following parts in it. 

(i) Filiform apparatus
(ii) Synergids
(iii) Central cells
(iv) Egg cell
(v) Polar nuclei
(vi) Antipodals
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(Q.4 Three Marks)
4.

(i) Name the organic material of the pollen grain is made up of. How is this matrial 
advantageous to pollen grain?

(ii) Still it is observed that it does not form a continuous layer around the pollen grain Give 
reason.

(iii) How are ‘pollen banks’ useful?

(Q.5 Five Marks)
5.

(i) Describe the sequence of the process of microsporogensis in angiosperms.
(ii) Draw a labelled diagram of a 2-celled final structure formed.
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       Answer & Solutions

1. 
They are called as the clones as they are very much similar to their parents that we can see in 
their morphology and genetics. All of the individual that reproduce by asexual reproduction are 
same to their parents as their is no crossing over during the fertilization which ensures the new 
combinations.

2. 
(i) Vegetative propagules are the parts/units of a plant which can be used for vegetative 

propagation, e.g. roots, stems, leaves, etc.
Root propagules include the production of a new plant via roots, e.g. fleshy roots in case of 
sweet potato, tapioca and Dahlia.

(ii) Vegetative propagation through leaves, many plant leaves have adventitious buds which help in 
the development of a new plant, e.g. Begonia, Bryophyllum, etc.

3. 

4. 
(i) The hard outer layer called exine is made up of sporopollenin which is one of the most 

resistant organic material. It can withstand high temperature, strong acids and alkalis. It cannot 
be degraded by any of the known enzymes. Hence, it acts as a shield and protects the pollen 
grain from getting damaged.

(ii) Exine does not form a continuous layer around the pollen grain. Pollen grain exine has 
prominent aperture called germ pore where sporopollenin is absent. Germ pores serve as an 
oudet for the formation of pollen tube.

(iii) Pollen grains at a large can be stored for years in liquid nitrogen (— 196°C). So, after this 
treatment they are stored in pollen banks. Such conserved pollen grains can be used in plant 
breeding programs
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5. 
(i) Microsporogenesis – It is a process in which microspores arre formed from a pollen mother 

cell through meiosis.
When anther develops the cells of the sporogenous tissue undergo meiotic divisions to form 
microspore tetrads.
Each sporogenous tissue give rise to a microspore tetrads and is known as pollen or 
microspore mother cell (PMC).
Each microspore mother cell divides meiotically and forms 4 haploid cells or tetrad. These 
each microspore divides into two unequal cells - large vegetative cell and smaller generative 
cell. 
At this 2 - celled stage the pollen grains are shed. Sometimes the generative cell divides 
mitotically to give rise to two haploid male gametes that are shed at 3 - celled stage.

(ii)

The above diagram shows two celled final structure formed during microsporogenesis in 
angiosperms.
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(OBJECTIVE QUESTIONS)

1. Stock and scion are used in 
(a) cutting 
(b) grafting 
(c) layering 
(d) micropropagation

2. In ginger, vegetative propagation occurs through.

(a) rhizome 
(b) offsets
(c) bulbils 
(d) runners

3. Which of the following pairs is not correctly match?

Mode of reproduction   Example 
(a) Offset ― Water hyacinth
(b) Rhizome ― Banana
(c) Binary ― Sargassum
(d) Conidia ― Penicillium

4. Which of the following processes ensures the continuity of life on earth? 
(a) Reproduction
(b) Respiration
(c) Digestion
(d) Growth and development

5. Budding is found in
1. Sycon
2. Hydra
3. Fasciola
4. Obelia
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       Answer & Solutions

1.  (b)
Stock and scion are used in grafting. Grafting is a horticulture technique wherein tissues from one 
plant are inserted into those of another, so that the two sets of vascular tissues join together.
This technique is mist commonly used in asexual propagation of commercially grown plants. In this 
technique, one plant is selected for its roots and is called the stock or root stock.
The other plant is selected for its stems, leaves, flowers or fruits and is called the Scion. The scion 
and stock contains the desired genes to be duplicated in future production by the stock and scion 
plant. 

2.  (a)
In ginger, vegetative propagation occurs through rhizome. Rhizomes are stems which grow 
horizontally under the ground.
In ginger, the underground stems are swollen with food reserves. The terminal bud grows upward 
to produce the flowering shoot and the lateral buds grow out to form new plant.

3.  (c)
The plant body of Sargassum is a diploid sporophyte. It does not multiply asexually by means of 
spores instead, it the only known method of vegetative means, i.e. fragmentation, which is the only 
known method of vegetative reproduction in the free-floating species of Sargassum.

4.  (a)
Reproduction is the process of formation of new individuals of a species from the pre-existing one. 
It is meant for perpetuation of a species because the older individuals of each species undergo 
senescence and die.

5.  (b)
Hydra reproduces asexually by exogenous budding, a type of vegetative propagation and sexually by 
formation of gametes. Hydra reproduces by budding, when plenty of food is available.


